
 
 
Students should always take the Spanish placement test and start at the level in which they place. Placing 
at the right level is crucial. This plan assumes the student places at SPAN 203, and thus can claim back 6 
credits for SPAN 101 and 102. Students should self-place at SPAN 101 only if they have never taken any 
Spanish. Students starting at SPAN 101 should take 2 Spanish electives taught in English along with the 
101 to 204 sequence during their first two years in order to be able to finish the Spanish major on time. 
Students may also consider study abroad and/or summer courses. Any transfer credit, dual enrollment 
credit, credit by exam, and AP credit will help reduce the number of courses needed per semester. 
Finishing a Double Major fulfills GEF 8.  
 

First Year 
FALL Hours SPRING Hours 
SPAN 203 3 SPAN 204 3 
CRIM 191 1 ANTH 105 (GEF 7) 3 
SOC 101 (GEF 4) 3 ENGL 101 (GEF 1) 3 
GEF 3 3 General Elective  2 
GEF 5 3 ECAS Fine Arts Requirement (GEF 6) 3 
 TOTAL HOURS 13  TOTAL HOURS 14 

Second Year 
FALL Hours SPRING Hours 
SPAN Core Course 1 3 SPAN Core Course 2 3 
200-level Sociology Course 3 Spanish Major Elective 1 3 
Statistics Requirement  3 200-level Sociology Course 3 
ENGL 102 (GEF 1) 3 GEF 2  6 
 TOTAL HOURS 12  TOTAL HOURS 

 
15 

Third Year 
FALL Hours SPRING Hours 
Spanish Major Elective 2 3 Spanish Major Elective 4 3 
Spanish Major Elective 3 3 Spanish Major Elective 5  3 
Upper-level Sociology Course 3 SOC 311 3 
SOC 301  3 Upper-level Sociology Course 3 
General Elective 3 General Elective 3 
 TOTAL HOURS 15  TOTAL HOURS 15 

Fourth Year 
FALL Hours SPRING Hours 
Spanish Major Elective 6 3 Spanish Major Elective 8 3 
Spanish Major Elective 7 3 SOC 488 (Capstone) 3 
SPAN 480 or 481 (Capstone Requirement) 3 Anthropology, Criminology, or Sociology 

Elective 2 
3 

Upper-level Sociology Course 3 General Elective  
Anthropology, Criminology, or Sociology 
Elective 1 

3 General Elective 
 

3 

 TOTAL HOURS 15  TOTAL HOURS 15 
Total credit hours: 114 + 6 (back credit for SPAN 101 and 102) = 120 



 


